<Y %

FEBLLY R

— =

iﬁ@ﬁ’ﬁf]

#¥ (A1 A%) 93kecal,1. 1B 3L

FEEXK 23¢

WBZ 10g
LodFL 3g

\_

K (KREREE) 20ml

#H2ME D& (EYR)

/ M QEHDES)

faEX 160g
K(tRERFE) 150ml
WsZ 70g
LodFL 20g
HDOIE br(EHYE)

\

J

R wnNe

FEEXESENDKTES,
WEZIEANFEEY  simBRREIZZD .
FEOTFREBEXRICLWBE I EK(RERR) & AN ERE RS,
LT EHEVDLTWENISA/NUTERIYL, FERO ETEMNZID,
HOIEERYR) ZsmmiBEIZZIE, @DOLLT EH(TRE EMNS-CERISEE S,

X REBADKIEVWEZDKASNHAEDTRELYBDGELRELTVETS,
\ BEFHDESTKDEZREL TSN,

N

_J/

FEM I3 —(kcal) T=AE<E () FEE (2) R IKIEP(e)
(1 AZt-Y) 93 26 0.3 19.5
T =1 =2 =3 =4 %5 #6(g) SRk EL
(1T A&E=Y) 10 %k 0.1 0 0 % 0

HEET




